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DEPARTMENTAL EXAMINATIONS 

THE PANCHAYAT DEVELOPMENT ACCOUNT TEST 

(With Books) 

Maximum Time : 30 minutes Maximum Marks : 20 

IMPORTANT INSTRUCTIONS 

DESCRIPTIVE TYPE 
Â›ÁõÚ Âøh¯ÎUS® ÁøP ÂÚõzuõÒ 

 Read the following instructions carefully before beginning to answer the questions. 
 ÂÚõUPÐUS Âøh¯ÎUP öuõh[S® •ß¦ RÌUPsh AÔÄøμPøÍ PÁÚ©õP £iUPÄ®. 

  NB :  Words of masculine gender in these instructions shall, where the context so 
require, be taken to include feminine gender. 

   C¢u AÔÄÖzu¼À Bs £õ¼Ú›ß ÁõºzøuPÎÀ, `Ç¾U÷PØ£ ÷uøÁ¨£i ö£s 

£õ¼Ú›ß ÁõºzøuPÐ® Ah[S®. 

1. Answers in excess of the prescribed number of questions appearing at the end of the answer 
book will not be valued. 

ÂøhPøÍ SÔ¨¤mkÒÍ GsoUøPUS AvP©õP GÊv°¸¨¤ß, ÂøhzuõÎß CÖv°À EÒÍ 

AvP GsoUøP°»õÚ ÂøhPÒ ©v¨¥k ö\´¯¨£hõx. 

2. Answer should be in brief and to the point and need not be a verbatim reproduction of 
printed pages. (Applicable for tests to be answered ‘‘with books’’ only). 

ÂøhPÒ _¸UP©õPÄ®, ÂÚõÂØS E›¯ AÍÂ¾® C¸UP ÷Ásk®. ¦zuPzvÀ EÒÍÁØøÓ 

A¨£i÷¯ ÁõºzøuUS Áõºzøu v¸®£ GÊuU Thõx. (CUSÔ¨¦ ¦zuP[PÐhß GÊx® 

÷uºÂØS ©mk® ö£õ¸¢x®) 

3. In case of doubt, English version is the final. 

ÂÚõUPÎÀ \¢÷uPª¸¨¤ß B[Q» ÁiÂÀ öPõkUP¨£mkÒÍ ÂÚõUP÷Í CÖv¯õÚx.  

Answer any FOUR questions. 
 GøÁ÷¯Ý® |õßS ÷PÒÂPÐUS Âøh¯ÎUPÄ®. (4  5 = 20) 

1. What are the particulars shall contain with government pay bill (or) vouchers presented to 
treasury for payment of any amount? 

  G¢u öuõøPø¯²® ö£Ó P¸Å»zvÀ \©º¨¤UP¨£k® Aμ_¨ £mi¯À AÀ»x ö\»Äa^mk Ehß 

GßÚ GßÚ Â£μ[PÒ öPõkUP¨£h ÷Ásk®? 

2. How many types of tenders are there in government department? Explain them with their 
estimate values and procedures to be followed? 

  Aμ_z xøÓ°À Âø»¨¦ÒÎ (öhshº) GzuøÚ ÁøP EÒÍx? AÁØÔß ©v¨¥k ©ØÖ® 

ö\¯»õUPzvøÚ ÂÍUPÄ®? 
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3. An Assistant Director is drawing a pay of Rs. 18,860 with grade pay Rs. 5,400 w.e.f 
01.07.2010 in the pay band of 15,600 — 39,100. He entered on extraordinary leave without 
medical certificate from 01.08.2010 to 30.08.2010 and then he went on leave on loss of pay 
from 15.09.2011 to 30.12.2011. Calculate his increment upto 2013. 

  ¹. 15,600&39,100 Fv¯ öuõS¨¤À, J¸ EuÂ C¯US|º 01.07.2010 •uÀ 18,860 Fv¯•® 5,400 

uμFv¯•® ö£ØÖ Á¢uõº. AÁº 01.08.2010 •uÀ 30.08.2010 Áøμ ©¸zxÁ \õßÖ CßÔ 

A\õuõμn Âk¨¤À C¸¢xÒÍõº. ÷©¾®, 15.09.2011 •uÀ 30.12.2011 Áøμ Fv¯ªÀ»õ 

Âk¨¤À C¸¢xÒÍõº. AÁ¸øh¯ Fv¯ E¯ºÄPøÍ 2013 Áøμ •øÓ¨£kzxP. 

4. An Assistant in the pay band of 5,200-20,200 with G.P. Rs. 2,800 is drawing the basic pay of 
Rs. 7,700 from 01.04.2010. He proceeded on extraordinary leave without medical certificate 
from 01.06.2010 to 30.09.2010 and as per proceedings dated 31.05.2012, he was Awarded  
3 months stoppage of increment without cumulative effect. Calculate the periodical 
increment of that assistant up to 2013. 

  J¸ EuÂ¯õÍº ¹. 5,200& 20,200 Fv¯ öuõS¨¤À 01.04.2010 •uÀ ¹. 7,700 Fv¯•® ¹. 2,800 

uμFv¯•® ö£ØÖ Á¢uõº. 01.06.2010 •uÀ 30.09.2010 •i¯ ©¸zxÁ \õßÖ CßÔ A\õuõμn 

Âk¨¤¾® C¸¢xÒÍõº. AÁ¸øh¯ Fv¯ E¯ºÂøÚ ‰ßÖ ©õu® vμsh £»ÛßÔ {Özu® 

ö\´x 31.05.2012 |õÎmh ö\¯À•øÓ°À EzuμÂh¨£mkÒÍx. A¢u EuÂ¯õÍ›ß Põ»•øÓ 

Fv¯ E¯ºÄPøÍ 2013 Áøμ •øÓ¨£kzxP. 

5. Calculate the Pension, Family Pension DCRG and Commutation for a retired Government 
Servants whose service details are as below. 

His Date of Birth :06.09.1956 

Date of Joining into Govt. service 17.03.1981. No. of years purchase value for 59 Years is 
8.371 (Commutation table) 

The following entries were seen in the Service Registers 

  (a) Foreign service - 4 months 

   (b) Suspension 2 months 

   (c)  Earned Leave 240 days 

  The Government Servant was drawing basic pay of Rs. 17,300/- with Grade pay Rs. 4,800/- 
in the Pay bond of Rs. 9,300-34,800 + 4,800 Grade pay. DA is 100% 

  RÌPõq® ÂÁμ[PÎß Ai¨£øh°À J¸ Aμ_ A¾Á»›ß K´ÄUS ÷uºa] ö£Ö® £oUPõ»®, 

K´Åv¯®, Sk®£ K´Åv¯®, CÓ¨¦ ©ØÖ® £oUöPõøhz öuõøP, K´Åv¯zøu öuõSzx 

ö£Ö® öuõøP BQ¯ÁØøÓ PnUQkP AÁ¸øh¯ ¤Ó¢u ÷uv : 06.09.1956 

  Aμ_¨£o°À ÷\º¢u |õÒ : 17.03.1981 

  £o¨£v÷ÁmiÀ RÌUPsh £vÄPÒ Põn¨£mhÚ. 

  (A) A¯Ø£oUPõ»® : 4 ©õu[PÒ 

  (B) uØPõ¼P £o }UP® : 2 ©õu[PÒ 

  (C) Dmi¯ Âk¨¦ 240 |õmPÒ 

  Aμ_ FÈ¯›ß Ai¨£øh Fv¯® ¹. 17,300 uμ Fv¯® ¹. 4,800 BP ¹. 9,300&34,800 + 4,800 uμ 

Fv¯® GßÓ Fv¯ ÂQuzvÀ ö£ØÓ Á¸QÓõº. APÂø»¨£i 100% 59 Á¯xUS öPõÒ•uÀ 

©v¨¦ 8.371 BS®. 
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6. Explain the following structure of government account 

  (a) Consolidated Fund 

   (b) Contingency Fund 

   (c)  Public Account 

  RÌUPsh Aμ_ PnUSPÎß Aø©¨¦PøÍ £ØÔ ÂÁ›UPÄ®. 

  (A) J¸[Qøn¢u {v 

  (B) ]À»øÓ ö\»ÂÚ {v 

  (C) ö£õxUPnUS. 

—————— 


